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Approximately what is the spring constant of the spring in the simulation?

A) 1 N/m B) 2 N/m C) 4 N/m
D) 8N/m E)16N/m
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Approximately what is the spring constant of the spring in the simulation?

A) 1 N/m B) 2 N/m @
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Discussion question: A 10cm long spring has a spring constant of 20 N/m. If
we attach a 100g weight to the spring and release it, what will be the
amplitude of the resulting oscillation?
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E)(ample: bob bino

A cylindrical object of mass M and cross-sectional
area A is placed in some water.

a) Draw a free body diagram for the object showing
’c—éj the vertical forces.
: Iln b) Calculate the magnitude of the net downwards
e e force on the object as a function of the depth h that

the object is in the water.

Answer in terms of h, A, M, g, and p, ..,



EXAW\P|Q: bob blno

A cylindrical object of mass M and cross-sectional
area A is placed in some water.

a) Draw a free body diagram for the object showing
the vertical forces.
i Ilﬂ b) Calculate the magnitude of the net downwards
gl (2 force on the object as a function of the depth h that

the object is in the water.

F/'rh,’“* Answer in terms of h, A, M, g, and p, ..,
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EXaw\Ple: bob bino

A cylindrical object of mass M and cross-sectional
area A is placed in some water.

A c) Graph the downward force as a function of h, for
’c:—_éj positive values of h, assuming the object floats.
——————

: {Ik d) What is the oscillation frequency in terms of h, A,
i & M, g, and P, aer?



EXAw\P|e: bob bino

A cylindrical object of mass M and cross-sectional
area A is placed in some water.

c) Graph the downward force as a function of h, for
positive values of h, assuming the object floats.

d) What is the oscillation frequency in terms of h, A,
M, 8, and py,ie,?
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